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QUESTION 1

Which solution area aims to decrease the likelihood of business interruptions, regulatory violations, financial losses, and
reputational damage as a result of a vendor-related event?

A. Third Party Governance
B. Relationship Management
C. Business Continuity

D. Incident Management

Correct Answer: A

QUESTION 2

Beyond federal organizations, Public Sector might be an appropriate solution for which of the following?
A. Only Federal organizations should implement Public Sector

B. Any organization complying with NIST SP 800-53

C. Any organization with vendors

D. Any organization complying with SOX

Correct Answer: C

QUESTION 3

Which Apply Conditional Layout item takes highest priority of all others at the Field Level within Conflict Resolution?
A. ReadOnly

B. Required

C. Display

D. Use Default Settings

Correct Answer: B

QUESTION 4

If an application has 10 fields, and a data import file contains values for 12 fields, what will happen with the remaining 2
columns of data when a Data Import is performed?

A. New fields will automatically be created to accommodate the two remaining columns of data
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B. The extra data will be imported into a text file that can later be attached to records in Archer

C. The remaining two columns of data are ignored and not imported into Archer

D. The data in the two extra fields are merged into a single field in Archer.

Correct Answer: C

QUESTION 5

When building an application, why might you use a tab set?
A. To group related fields using custom HTML code

B. To better organize History Log data

C. To group related fields for administrative purposes only
D. To group related fields into logical arrangements

Correct Answer: C
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